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NEW QUESTION 1

Given:

public static vold main(Stringl[] args) |
String ta = "A ";
ta = ta.concat ("B ") ;
Stirrng £h = HC M

ta = ta.concat (th)
ta.replace (TCT, TDT);
ta = ta.concat (th)
System.out.println (ta) ;

}

What is the result?

A.ABCD
B.ACD
C.ACDD
D.ABD
E.ABDC

Answer: C

NEW QUESTION 2
Given the code fragment:

public static void main({String[] args)} {
int ans;

try {
int num = 10;
int div = 0;
ans = num / div;
} catch (ArithmeticException ae) {
ans = 0;

} catch (Exception e) {

// line nl

System.out.println("Invalid calculation");

}
System.out.println("Answer =

b

+ ans);
}
What is the result?

A. Answer =0

B. Invalid calculation

C. Compilation fails only at line n1.

D. Compilation fails only at line n2.

E. Compilation fails at line n1 and line2.

Answer: C

Explanation:

public class Test {
public static wvoid main{String[] args) {
int ans:
try {
int num = 10;
int diw 0
ans = num / div;
catch (ArithmeticException ae) {
ans 0z
} catch (Exception e) {
Quatem. ot . nrintInt"Tnvalid maleuliation”);
[avariab;e ans might not have been initialized
[ ] System.out.println("Answer 4

}

et

NEW QUESTION 3
Given the code fragments:

class Student |
String name;

int age;

And:
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4. public class Test {

5. public static wveoid main{Stringl[] args) {
£ . Student sl = new Studsnt();

g Studaent s2 = new Student():;

a. Student 23 = new Studsent():

9. sl = s83;

10, 83 = 82;

11 52 = null;:

12. '}

13.3

Which statement is true?

A. After line 11, three objects are eligible for garbage collection.

B. After line 11, two objects are eligible for garbage collection.

C. Atfter line 11, one object is eligible for garbage collection.

D. After line 11, none of the objects are eligible for garbage collection.

Answer: C

NEW QUESTION 4
Given the following classes:

public class Emplovee {
public int salary;

public class Manager extends Emplovee ({
public int budget:

public class Director extends Manager |
public int stockOptions;

}
And given the following main method:

public static void main(8tringl[] args) |
Employee employee = new Employee():

Manager manager = new Manager /() ;
Director director = new Director():;
//line nl

}

Which two options fail to compile when placed at line n1 of the main method? (Choose two.)

A. employee.salary = 50_000;

B. director.salary = 80_000;

C. employee.budget = 200_000;
D. manager.budget =1 000_000;
E. manager.stockOption = 500;

F. director.stockOptions = 1_000;

Answer: CE

NEW QUESTION 5

You are asked to develop a program for a shopping application, and you are given this information:

> The application must contain the classes Toy, EduToy, and ConsToy. The Toy class is the superclass of the other two classes.

> The int calculatePrice (Toy t) method calculates the price of a toy.

> The void printToy (Toy t) method prints the details of a toy.
Which definition of the Toy class adds a valid layer of abstraction to the class hierarchy?
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A
public absztract class Toy/{
public abstract int calculatePrice (Toy t);
public volid printToy (Tey t) { /* code goes here */ }
i
B
public abstract class Toy |
public int calculatePrice (Toy t)
public wveid printToy (Toy t)
!
C
public abstract class Toy |
public int calculatePrice (Toy t):
public final wveid printToy (Tey t)f{ /* code goesz here */ |}
!
D
public abstract class Toy |
public abstract int calculatePrice(Toy t) | /* code goes here */ 3
public abstract weid printTey(Toey t) { /* code goes here */ )
!
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 6
Given this code for a Planet object:
public class Planet |
public String name;
public int moons;

public Planet (String name, int moons)
this.name = name;
this.moons = moons;

And this method:

public static volid main(String[] args) {
Planet[] planets = {
new Planet ("Mercury”, 0),
new Planet ("Venus", 0),
new Planet ("Earth", 1),
new Planet ("Mars"”, 2)

System.out.println(planets) ;

System.out.println(planets[2].name) ;

System.out.println(planets(2].moons) ;
H

What is the output?
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A
planets
Earth
1

B
[LPlanet=s.Planet; @3154kL9742
Earth
1

C
[LPlanets=.Planst; @15dkL2742
Planets=s. Planet@dadiadadc
1

1]
[LFlanst=. FPlanst; 31542742
Planets. Planet@adiadafc
[LPlansets . Moon; @7/852=922

E
[LEPlanet=s. Planet; @15dkL9742
Wenus
]

A. Option A

B. Option B

C. Option C

D. Option D

E. Option E

Answer: C

NEW QUESTION 7
Given the code fragment:

public static void main(String[] args) {
int data[] = {2010, 2013, 2014, 2015,
int key = 2014;

int count = 0;
for (int e: data) {
if (e != key) {
continue;
count++;

}
}
System.out.print (count +

T

Found") ;
1
What is the result?

A. Compilation fails.
B. 0 Found
C. 1 Found
D. 3 Found

Answer: A

NEW QUESTION 8
Which two are benefits of polymorphism? (Choose two.)

A. Faster code at runtime

B. More efficient code at runtime

C. More dynamic code at runtime

D. More flexible and reusable code

E. Code that is protected from extension by other classes

Answer: BD

NEW QUESTION 9
Which two class definitions fail to compile? (Choose two.)
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A
abstract class A3 {
private static int i;
public wvoid doStuff() {1}
public A3(){}

final class Al {
public Al(){}

private class A2 {
private static int 1i;
private A2() {}

class A4 {
protected static final int 1 = 10;
private R4 () {}

final abstract class A5 |
protected static int i;
void dostuff () {}
abstract wvoid doIt();

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E

Answer: CD

NEW QUESTION 10

Which statement is true about the switch statement?

A. It must contain the default section.

B. The break statement, at the end of each case block, is mandatory.
C. Its case label literals can be changed at runtime.

D. Its expression must evaluate to a single value.

Answer: D

NEW QUESTION 10
Given:
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class B extends A {
public woid test ()
System.out.println (“B"):

public class C extends A |
public void test ()

CaroFom M sy ok ‘“.""'”:I -
'.-l‘rr‘-"'.r..il‘-f-.Ilit‘E.-'Ln1|'tL|-| A #

public static void main (String [] args) |
A bl = new A ()
A DbZd = new C ()
bl = (A) b: //1line nl
A b3 = (B) b2:; f/line n2
bl.test ()
b3.test ()
What is the result?
A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.
Answer: B
NEW QUESTION 15
Given the code fragment:
antim 1 ¥l = $dl. 85 12, 2 E¥-
for {(int i1 = n.length-1; i >= 0; i——} {

for f{int y = n[il)} {
System.out.print (y}:

What is the result?

A. 1324
B. 2313
C. 3142
D. 4231

Answer: D

NEW QUESTION 19
Given the code fragment:

public static voild main(Stringl] args) |
LAt G4l = 03
Znt AT = R
Fort (11 = Op 11 # 43+ L@ 34 = 34 & 23 o
gyeten. out . printifil “F * "y

H
What is the result?
A 24
B.0246
C.024
D. Compilation fails

Answer: C
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NEW QUESTION 20
Given the code from the Greeting.Java file:

public class Greeting |
public static void maini{8tring[] args) |
Syvstem.out.println{"Hello " + args[0]):;

H
Which set of commands prints Hello Duke in the console?
© A) javac Greeting

Java Greeting Duke

~ B) javac Greeting.java Duke
Java Greeting

¢~ Cliavad Brasting. Java
Java Greeting Duke

- D) javac: Greeting. java
Java Greeting.class Duke

A. Option A
B. Option B
C. Option C
D. Option D

Answer: C

NEW QUESTION 24
Given:

public class Fieldinit {

char c:

boolean b;

float f:

void printAll () {
System.out.println (“c =™ + c¢);
System.out.println (“*b = " + b);
System.out.println (“f =™ + f):

}

public static void main (String [] args) {
FieldInit £ = new FieldInit ():
f.printAll ():

=

[

What is the result?
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A
C:
b = false
£f = 0.0
B
c= null
B = true
£f =0.0
C
c=0
B = falze
£f = 02.0f
1]
o= null
B = false
£f = 0.0F
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 27
Given:
class Patient |{
String name;
public Patient (String name) {
this.name = name;

[—

And the code fragment:

8. public class Test {

g. public static void main (String [] args)
10 List ps = new Arraylist ():

11. Patient p2 = new Patient (“Mike):
12, ps.add(p2)

13.

14, // insert code here

15.

16. if (£ >= 0) {

1V System.out.print (“Mike Found”):
18. }

19. }

20. }

Which code fragment, when inserted at line 14, enables the code to print Mike Found?
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A
int £ = ps.index0f (pZ);
B
int f = ps.indexCf (Patient (“Mike”)} )
C
int £ = pe.index0f (new Patient “Mike") );
B]
Patient p = new Patient ("Mike");
int £ = ps.index0f (p)
A. Option A
B. Option B
C. Option C
D. Option D
Answer: A

NEW QUESTION 28
Given:

public class MyClass
public static void main(String[] args)
String s = "Java SE 8 1";
int len = s.trim().length();
System.out.print (len) ;

What is the result?

A. Compilation fails.
B.11

C.8

D.9

E. 10

Answer: B

NEW QUESTION 32
Given:
interface Readable |
public void readBook () ;
public vold setBookMark () ;
I

abstract class Book implements Readable | A b = o
public vold readBook () { 1}
O 8 T G

h

claz=z EBoock extends Book | Ff line n3
public volid readBook () { 1}
// line nd4

}

And given the code fragment: Book book1 = new EBook(); bookl.readBook();
Which option enables the code to compile?
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= &) Replace the code fragment at line nl with;
class Book implements Readable |

© B) At 1line nZ insert:
public abstract wvoid setBookMark();

) Replace the code fragment at line n3 with;
abstract class EBook extends Book |

~ D) At 1ine n4 insert:
public wvoid setBookMark () { }

A. Option A
B. Option B
C. Option C
D. Option D

Answer: D

NEW QUESTION 34

Given:

class Product
double price;

public class Test |

public woid updatePrice (Product product,

}

price = price * 2;
product.price = product.price + price;

public static woid main(8tring([] args) |

}

Product prt = new Product () ;
prt.price = 200;
double newPrice = 100;

Test £t = new Test ()
t.updatePrice (prt, newPrice) ;

double price)

System.out.println(prt.price + " : " + newPrice);

What is the result?

A. 200.0:100.0
B. 400.0 : 200.0
C. 400.0:100.0

D. Compilation fails.

Answer: C

NEW QUESTION 37
Given the code fragment:

LocalDateTime dt = LocalDateTime.of (2014, 7, 31, 1,
dt.plusDays (30} ;
dt.plusMonths (1) ;
System.out.println(dt.format (DateTimeFormatter.IS0O DATE TIME});

What is the result?

A. An exception is thrown at runtim
B. 2014-07-31T01:01:00

C. 2014-07-31

D. 2014-09-30T00:00:00

Answer: B

NEW QUESTION 39

Given:
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class B
public wvoid test () {
System.out.println("& ");

class B extends A
public void test () {
System.out.println({"B ");

public class C extends A {
public void test () {
System.out.println{"C ");
}

public static woid main(String[] args) {

2 bl = new A{);

A b2 = new C{);

A b3 = (B} b2; //1line nl
Ll = (A) b2: //1line nZ2
bl.test ()

b3.test (};

¥
What is the result?

A. AB
B. AC
C.CC
D. A ClassCastException is thrown only at line n1.
E. A ClassCastException is thrown only at line n2.

Answer: D

NEW QUESTION 44
Which is true about the switch statement?

A. Its expression can evaluate to a collection of values.

B. The break statement, at the end of each case block, is optional.
C. Its case label literals can be changed at runtime.

D. It must contain the default section.

Answer: B

NEW QUESTION 46
Given the code fragment:

abstract clas=z Planet |
protected void revolwe () | ffline nl
'

abstract vaid Fotate)s Jiling. nZ2

claz=e Earth extends=s Planet |
vold revolve () | Filing: nd
'

protected wvoid rotate () | filine nd
}
}

Which two modifications, made independently, enable the code to compile? (Choose two.)

A. Make the method at line n1 public.
B. Make the method at line n2 public.
C. Make the method at line n3 public.
D. Make the method at line n3 protected.
E. Make the method at line n4 public.

Answer: CD

NEW QUESTION 49
Given the code fragment:
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7. StringBuilder =hl = new StringBuilder ("Duke");
8. String strl = sbl.toString();

9, // insert code here

10. gyvstem.out.print (strl == =tr2);

Which code fragment, when inserted at line 9, enables the code to print true?

A. String str2 = strl;

B. String str2 = new String(strl);
C. String str2 = sbh1. toString();
D. String str2 = "Duke";

Answer: A

NEW QUESTION 50
Given the code fragment:

public static void main(String[] args) {
String myStr = "Hello World ";
myStr.trim() ;
int il = myStr.indexOf (™ ");
System.out.println(il):;

}

What is the result?

A. An exception is thrown at runtime.
B.-1

C.5
D. 10

Answer: A

NEW QUESTION 55
Which two code fragments cause a compilation error? (Choose two.)

A. float flt = 100.00F;

B. float flt = (float) 1_11.00;

C. Float flt = 100.00;

D. double y1 = 203.22;float flt = y1;
E. int y2 = 100;float flt = (float) y2 ;

Answer: AD

NEW QUESTION 60
Given:

class Test {
public static void main (String [] args)
int numbers [ ]1:

numbers = new int [2]:
numbers [0] = 10;
numbers [1] = 20;
numbers = new int [4]:
numbers [2] = 30;
numbers [3] = 40;

for (int x : numbers) {
System.out.print

LA

What is the result?

A.10203040

B.00 3040

C. Compilation fails.

D. An exception is thrown at runtime.

Answer: C
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NEW QUESTION 63
Given the code fragment:

int wd = 0;

Straing days[] = ("sun”, “mon'", “wed”, “sat");
for (String s:days) |
awiteh (s) {
case "“sat®:
case “=un":

wd == 1:
break ;
case “mon'
wd++
case “wed":
wd += 2

}
System.out.println(wd) ;

What is the result?

|'_‘-l>00

. Compilation fails.

Answer: A

NEW QUESTION 64
Given:

public class Test |

int =, ¥;

public Test(int x, int y) {

initializs(x, ¥v);

public woid initialize(int =, int ¥} {
this.x = x * =;

this.y = v * y;

public static void main(String[] args) |
int = = 3, v = 5;
Test ckbj] = new Testix, vy);
System.cut.println{x + “ ™ + y);

}

What is the result?

A. Compilation fails.
B.35

C.00

D.925

Answer: B

NEW QUESTION 67
Given the code fragment:
public static void maini(Stringl[] args) |

StringBuilder =k = new StringBuilder ("Java™);
String = = "Java" ;

if (=gb.toString() .eqguals(s.toString())) I}
System.out.println{"Match 1");

Voelzge 1f (sh.equalsi=)) |
System.out. println{"Match 2");

Voelze

System.out. println("No Match™);

}

What is the result?
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A. Match 1

B. Match 2

C. No Match

D. A NullPointerException is thrown at runtime.

Answer: A

NEW QUESTION 70
Which three are advantages of the Java exception mechanism? (Choose three.)

A. Improves the program structure because the error handling code is separated from the normal program function
B. Provides a set of standard exceptions that covers all possible errors

C. Improves the program structure because the programmer can choose where to handle exceptions

D. Improves the program structure because exceptions must be handled in the method in which they occurred

E. Allows the creation of new exceptions that are customized to the particular program being created

Answer: ACE

NEW QUESTION 73
Given the code fragment:

3. public static wvoid main(String[] args) /{

e int ¥ = 6;

5. while (isAwvailable(x}} {

6. System.out.print (x);

7.

3. }

Q. 1

10.

11. public static boolean isAvailable {int x) {
12 return —-x > 0 ? true :| false;

13.

Which modification enables the code to print 543217

A. Replace line 6 with System.out.print (--x);

B. Atline 7, insert x --;

C. Replace line 5 with while (is Available(--x)) {

D. Replace line 12 with return (x > 0) ? false : true;

Answer: C

NEW QUESTION 78
Given this segment of code:

ArrayList<Cycle> myList = new ArravList<>();
myList.add({new MotorCyclel()):

Which two statements, if either were true, would make the code compile? (Choose two.)

A. MotorCycle is an interface that implements the Cycle class.

B. Cycle is an interface that is implemented by the MotorCycle class.
C. Cycle is an abstract superclass of MotorCycle.

D. Cycle and MotorCycle both extend the Transportation superclass.
E. Cycle and MotorCycle both implement the Transportation interface.
F. MotorCycle is a superclass of Cycle.

Answer: BC

NEW QUESTION 79

Given the code fragment:
String[] strs = {"A"™, "B"}:
int idx = 0;
for (String s : strs)

strs[idx] .concat (" element " + idx);
idxt+;

}

for (idx = 0; idx < strs.length; idx++)
System.out.println(strs[idx]);

}

What is the result?

A. AB

B. A element OB element 1

C. A NullPointerException is thrown at runtime.
D.AOB1

Answer: C
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NEW QUESTION 83
Given the code fragment:

int num=sl[] = {1, 2, 3};

int num=z2[] = {1, 2, 3, 4, 51:

nums 2 = nums 1;

for (int = : num=z2){
System.out.printix + ":");

i

What is the result?
A. 1:2:3:4:5:
B. 1:2:3:

C. Compilation fails.
D. An ArrayOutOfBoundsException is thrown at runtime.

Answer: A

NEW QUESTION 84
Given the code fragment:

public static veoild main{Stringl[] args)

int[][] arr = new int [2] [4]:
a2rr[J] = new int [141, 3, 5, 71:
arr[l] = new int []141, 3}:
for (int[] a arr)

for (int 1 : a)

System.out.print(i+ ™ “);
}

System.out.printlni);

}

What is the result?

A Compilation fails.

=

'_\.
(o L

1 3
followed by an ArrayIndexOQutOfBoundsException

A. Option A
B. Option B
C. Option C
D. Option D
E. Option E
Answer: E

Explanation:
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Tour '_ B

1- 155 MyClass {

2= public static void main (String [0 orgs) {

3 nt [0 orr =new int [Z] [4];

4 arr[@] = new int O {1, 3, 5. 7H

5 grr[1] = new ink [] f1, 3}:

G- riint 0a:are) |

7~ For Cint 1 @ @) {

g Svsten.put.printCis © °);

: }

18 System,out.println (J;

1% 1

12 }

13}

14

I Lib €5 © Add Extermal Library (Ff Maven §
Comm ne Argument
Trd £ mod ]

RESULT. .

NEW QUESTION 85

Which three statements are true about the structure of a Java class? (Choose three.)

A. A class cannot have the same name as its field.

B. A public class must have a main method.

C. A class can have final static methods.

D. A class can have overloaded private constructors.

E. Fields need to be initialized before use.

F. Methods and fields are optional components of a class.

Answer: BDE

NEW QUESTION 90
Given:

public class App {
public static vold main(String[] args)
int 1 = 10;

int 3 = Z20;
int k =(3 += 1}/ 5;

System.cut.print{i + ™ : ™ + 3 + ©

}

What is the result?
A.10:30:6
B.10:22:22
C.10:22:20
D.10:22:6

Answer: A

NEW QUESTION 91
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